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Chapter 11 Managing Products and Brands

Multiple Choice
1. Which of the following statements about BRAND’S® is NOT true?
a) BRAND’S® was developed to boost King George IV’s health 
b) The brand was name after the royal chef, Mr. Brand. 
c) BRAND’S® chicken of essence was not commercially produced in UK in the 19th century. 
d) BRAND’S® chicken of essence is very popular in many parts of Asia.  

e) BRAND’S® has been able to retain market leadership for more than a hundred country. 
Ans: c
Feedback: BRAND’S® was commercially developed on a large scale in UK before being brought to Malaya for the use of UK expatriates there. 
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2. Which of the following statements about BRAND’S® is true?
a) It was first made for commercial use. 
b) BRAND’S® is the first name that comes up when one thinks of essence of chicken. 
c) BRAND’S® is not popular with Asians. 
d) BRAND’S® has not been able to keep its market leadership position. 
e) All of the above statements about BRAND’S® are true
Ans: b
Feedback: BRAND’S® was first made for King George IV to boost his health by the royal chef, and only when he retired did the brand developed on a large scale. It is very popular in Asian countries like Singapore, Myanmar, Thailand, Sri Lanka and China. 
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3. A concept that describes the stages a new product goes through in the marketplace—introduction, growth, maturity and decline— is called __________.
a) the retail life cycle
b) the product life cycle
c) the marketing mix
d) the product growth cycle
e) product commercialization
Ans: b
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4. The stage of the product life cycle when a product is first commercialized to its intended target market is called the __________ stage.
a) growth
b) commercialization
c) launch
d) introduction
e) awareness-trial
Ans: d
Feedback: The introduction stage of the product life cycle occurs when a product is introduced to its intended target market.
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5. Lack of profit in the introductory stage of the product life cycle is very often the result of __________.
a) insufficient allocation of resources to the marketing mix
b) poor selection of distribution channels
c) high taxes
d) large investment costs in product development
e) ineffective execution of the marketing program
Ans: d
Feedback: The lack of profit is often a result of large investment costs in product development.
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6. The marketing objective for a product in the __________ stage of the product life cycle is to create consumer awareness and gain trial.
a) introduction
b) growth
c) maturity
d) decline
e) harvest

Ans: a
Feedback: The marketing objective for a company at the introduction stage is to create consumer awareness and gain trial-the initial purchase of a product by a consumer.
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7. A few years ago Who Wants to Be a Millionaire premiered as the first nighttime game show in several decades. The marketing for the show was intent on making television viewers aware of its existence and excited enough about the show that we would watch the first episode. Based on this description, in which stage of the product life cycle would this show be?
a) Introduction
b) Growth
c) Maturity
d) Decline
e) Harvest
Ans: a
Feedback: The introduction stage of the product life cycle occurs when a product is introduced to its intended target market. The marketing objective for the company at this stage is to create consumer awareness and stimulate trial—the initial purchase (watching the show) of a product by a consumer.
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8. A product in the introduction stage of the product life cycle should have which of the following marketing objectives?
a) Gain awareness and stimulate trial
b) Stress differentiation
c) Maintain brand loyalty
d) Gain as much distribution as possible
e) Reveal a marketing niche
Ans: a
Feedback: The introduction stage of the product life cycle occurs when a product is introduced to its intended target market. The marketing objective for a product at the introduction stage is to promote consumer awareness and gain trial-the initial purchase of a product by consumer.
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9. One type of television shows is the category called reality shows. According to the product life cycle, what was the objective of the marketers of these reality shows when they were in the introduction stage of the product life cycle?
a) Gain awareness and stimulate the target market to watch
b) Stress differentiation from other types of entertainment
c) Maintain loyalty of the viewers
d) Gain as much distribution as possible to local TV stations
e) Reveal a marketing niche for that particular show
Ans: a
Feedback: The introduction stage of the product life cycle occurs when a product is introduced to its intended target market. The marketing objective for a company at the introduction stage is to promote consumer awareness and gain trial-the initial watching of the TV show by viewers.
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10. The initial purchase of a product by a consumer is called __________.
a) the product test
b) tryout
c) trial
d) the product assessment
e) examination period
Ans: c
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11. Gillette spent US$300 million in advertising to introduce the Fusion razor to consumers. Such expenditures are often made to stimulate __________ or desire for the product class, rather than for a specific brand, when there are no competitors with the same product.
a) secondary demand
b) introductory demand
c) primary demand
d) discretionary demand
e) repeat purchase
Ans: c
Feedback: Primary demand is the demand or desire for a product class rather than for a specific brand.
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12. Gillette spent US$300 million in advertising to introduce the Fusion razor to consumers. Such expenditures are often made to stimulate primary demand or desire for __________, rather than for a specific brand, when there are no competitors with the same product.
a) the product class
b) innovative sampling
c) secondary demand
d) a well-known brand
e) repeat purchase
Ans: a
Feedback: Primary demand is the demand or desire for a product class rather than for a specific brand.
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13. During the introduction stage of the product life cycle, promotional expenditures are made to stimulate consumer desire for an entire product class rather than for a specific brand. The consumer desire that is stimulated is referred to as __________ demand.
a) selective
b) primary
c) derived
d) generic
e) secondary
Ans: b
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14. The popular Stay Healthy by Drinking Milk campaign was launched by Marigold High-Low Milk to encourage more people to drink milk. This ad campaign stimulates __________ demand.
a) selective
b) primary
c) derived
d) generic
e) secondary
Ans: b
Feedback: Primary demand is the desire for the product class rather than for a specific brand. When expenditures are made to increase desire for a product class, such as milk, this is an example of stimulating primary demand.
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15. When the Singapore Florist advertises giving flowers as a thoughtful and appreciated gift for any occasion it is trying to stimulate __________ demand.
a) selective
b) primary
c) derived
d) generic
e) secondary
Ans: b
Feedback: Primary demand is the desire for the product class rather than for a specific brand. When expenditures are made to increase desire for a product class, such as flowers, this is an example of stimulating primary demand.
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16. When the KFC promotes itself as “It’s Finger Lickin’ Good,” it is trying to stimulate __________ demand.
a) selective
b) primary
c) derived
d) generic
e) secondary
Ans: b
Feedback: Primary demand is the desire for the product class rather than for a specific brand. When expenditures are made to increase desire for a product class, such as beef, this is an example of stimulating primary demand.
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17. Promotional expenditures at the introduction stage of the product life cycle are best spent on __________.
a) contests and sweepstakes
b) creating selective demand
c) creating primary demand
d) personal endorsements
e) maintaining brand loyalty
Ans: c
Feedback: Advertising and promotion expenditures in the introduction stage are often made to stimulate primary demand, the desire for the product class rather than for a specific brand, since there are few competitors with the same product.

Page: 301

Learning Objective: 1
18. During the growth stage of the product life cycle, promotional expenditures are made to stimulate consumer desire for a specific brand due to increased competition. The consumer desire that is stimulated is referred to as __________ demand.
a) selective
b) primary
c) derived
d) generic
e) secondary
Ans: a
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19. As more competitors launch their own products and the product progresses along its life cycle, company attention is focused on creating __________ demand or the preference for a specific brand.
a) selective
b) primary
c) derived
d) generic
e) secondary
Ans: a
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20. For years when most Indian consumers thought of soya milk, they thought of the Silk Soymilk brand. Then SkyWheat Bio Soy Milk came on the market claiming that it was superior to the Silk Soymilk brand. Northland was creating __________ demand for its soya milk products.

a) selective
b) primary
c) derived
d) generic
e) secondary
Ans: a
Feedback: Selective demand is the preference for a specific brand. Northland was interested in creating awareness for its brand-not its product category.
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21. The stage in the product life cycle labeled "A" in Figure 11-2 is called __________.
a) introduction
b) maturity
c) growth
d) diversification
e) decline
Ans: a
Feedback: The introduction stage of the product life cycle (A) is first, followed by growth (B), maturity (C) and decline (D).
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22. The stage in the product life cycle labeled "B" in Figure 11-2 is called __________.
a) introduction
b) maturity
c) growth
d) diversification
e) decline
Ans: c
Feedback: The introduction stage of the product life cycle (A) is first, followed by growth (B), maturity (C) and decline (D).
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23. The stage in the product life cycle labeled "C" in Figure 11-2 is called __________.
a) introduction
b) maturity
c) growth
d) diversification
e) decline
Ans: b
Feedback: The introduction stage of the product life cycle (A) is first, followed by growth (B), maturity (C) and decline (D).

Page: 302

Learning Objective: 1
[image: image4.wmf]
24. The stage in the product life cycle labeled "D" in Figure 11-2 is called __________.
a) introduction
b) maturity
c) growth
d) diversification
e) decline
Ans: e
Feedback: The introduction stage of the product life cycle (A) is first, followed by growth (B), maturity (C) and decline (D).
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25. During the introduction stage of the product life cycle, the place element of the marketing mix is highly involved with __________.
a) increasing inventory
b) gaining distribution outlets
c) guaranteeing there is adequate demand if a skimming pricing strategy is used
d) building storage warehouses and distribution centers
e) using an intermodal logistics system
Ans: b
Feedback: Gaining distribution outlets for the product is important but often difficult because channel intermediaries may be hesitant to carry a new product.

Page: 301, figure 11-1

Learning Objective: 1
26. During the introduction stage of the product life cycle, the place element of the marketing mix is highly involved with __________.
a) restricting the number of variations of the product
b) reducing distribution outlets to reduce costs
c) guaranteeing there is adequate demand if a skimming pricing strategy is used
d) building storage warehouses and distribution centers
e) using an intermodal logistics system
Ans: a
Feedback: A company often restricts the number of variations of the product to ensure control of product quality.
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27. Xerox pioneered the first portable fax machine. In 1980 the price was US$12,700. Xerox was using a(n) __________ strategy to help cover the cost of its research and development.
a) penetration pricing
b) cost-plus pricing
c) ROI pricing
d) market-oriented pricing
e) skimming pricing
Ans: e
Feedback: A high initial price may be used as part of a skimming strategy to help the company recover the costs of development as well as capitalize on the price insensitivity of early buyers. Xerox was using a skimming strategy to help the company recover the costs of development as well as capitalize on the price insensitivity of early buyers.

Page: 302

Learning Objective: 1
28. During the introduction stage of the product life cycle, a(n) __________ strategy may be used. This pricing strategy charges a high price to recoup the costs of product development.
a) penetration pricing
b) cost-plus pricing
c) ROI pricing
d) market-oriented pricing
e) skimming pricing
Ans: e
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29. 3M is a master of __________ strategy. According to a 3M manager, "We hit fast, price high and get the heck out when the me-too products pour in".
a) penetration pricing
b) cost-plus pricing
c) ROI pricing
d) market-oriented pricing
e) skimming pricing
Ans: e
Feedback: Skimming pricing strategy charges a high price to recoup the costs of product development as well as capitalize on the price insensitivity of early buyers. 3M is a master of skimming pricing strategy.
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30. A company follows a skimming strategy as part of introducing a new product to __________.
a) help recover costs of development and to capitalize on the price insensitivity of early buyers
b) capitalize on the price sensitivity of early buyers and to postpone breakeven
c) discourage competitors and build unit volume
d) move the product into the maturity stage once primary demand has been created
e) do all of the above
Ans: a
Feedback: A high initial price in the introduction stage may be used as part of a skimming strategy to help the company recover the costs of development as well as capitalize on the price insensitivity of early buyers.
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31. Hybrid automobiles and high definition television (HDTV) are in which stage of the product life cycle?
a) Introduction
b) Growth
c) Maturity
d) Decline
e) Harvest
Ans: a
Feedback: Both of these product classes are in the introduction stage of the product life cycle.
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32. During the introduction stage of the product life cycle, the strategy that discourages competitive entry by charging a low price is referred to as __________.
a) penetration pricing
b) cost-plus pricing
c) ROI pricing
d) market-oriented pricing
e) skimming pricing
Ans: a
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33. The Dell EC 280 is a small desktop computer that uses less electrical power, has a Celeron processer and is targeted to the less affluent, very large, Chinese market that has never owned a computer. It was introduced at a price of US$340 for a basic setup. Dell is using which pricing strategy in this example?
a) Penetration pricing
b) Cost-plus pricing
c) ROI pricing
d) Market-oriented pricing
e) Skimming pricing
Ans: a
Feedback: To discourage competitive entry, a company can price low, referred to as penetration pricing. This pricing strategy helps build unit volume, but a company must closely monitor costs. The Chinese market is so large Dell used penetration pricing to encourage purchase of its brand over others.
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34. To discourage competitive entry, a company can price its new product low, using penetration pricing. This pricing strategy also helps to __________.
a) reduce costs
b) increase profits
c) build customer loyalty
d) improve product quality
e) build unit volume
Ans: e
Feedback: To discourage competitive entry, a company can price low, referred to as penetration pricing. This pricing strategy helps build unit volume, but a company must closely monitor costs.
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35. Which of the following statements about the introduction stage of the product life cycle is true?
a) During the introduction stage, efforts are made to increase primary demand
b) During the introduction stage, firms may choose a skimming pricing strategy
c) During the introduction stage, firms may choose a penetration pricing strategy
d) Because of large initial investment costs, industry profits often must go from negative to positive
e) All of the above statements about the introduction stage of the product life cycle are true
Ans: e
Feedback: The introduction stage of the product life cycle occurs when a product is introduced to its intended target market. During this period, sales grow slowly and profit is minimal. The lack of profit is often the result of large investment costs in product development. The marketing objective for the company is to stimulate trial. Advertising and promotion expenditures in the introduction stage are often made to stimulate primary demand. During introduction, pricing can be either high (skimming) or low (penetration).
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36. Ford and Toyota both have hybrid vehicles in their respective product lines. Sales have been slow to rise over the past year and profit is likely yet to be achieved. In what stage of the product life cycle is this product category?
a) Growth stage
b) Decline stage
c) Commercialization stage
d) Maturity stage
e) Introduction stage
Ans: e
Feedback: At the introduction stage there is very slow sales growth, little or no profitability and the key promotional objective is to try to inform consumers of the product's existence. Hybrid vehicles are in the introductory stage of the product life cycle.
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37. Imagine that Eveready has developed solar rechargeable batteries that cost only slightly more to produce than regular batteries (less than the rechargeable batteries currently available) and can be recharged by sunlight up to 5 times, after which they are meant to be discarded. Unfortunately, the production process cannot be patented and competitors could arrive within a few months. Eveready's marketing efforts should include all the following EXCEPT __________.
a) skimming pricing
b) widespread distribution
c) high production capacity
d) advertising aimed at brand name awareness
e) introductory promotion to encourage trial
Ans: a
Feedback: Competition would be deterred if Eveready could create trial and brand loyalty for its product. The skimming price strategy would work against this and its high per unit profits would likely attract competitors.
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38. A few years ago Who Wants to Be a Millionaire premiered as the first nighttime game show in a couple of decades. Once the show became a hit and televised several nights a week, other networks quickly created their own version of what they hoped to be a successful game show format. Greed and Twenty-One are the names of but two of the new shows that were created to compete with Who Wants to Be a Millionaire. At this point in time the nighttime televised game show genre entered which stage of its product life cycle?
a) Growth stage
b) Decline stage
c) Commercialization stage
d) Maturity stage
e) Introduction stage
Ans: a
Feedback: The growth stage of the product life cycle is characterized by rapid increases in sales. It is in this stage that competitors appear.
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39. Which stage in the product life cycle is characterized by a rapid increase in sales and the appearance of competitors?
a) Introduction
b) Growth
c) Maturity
d) Decline
e) Profit
Ans: b
Feedback: The second stage of the product life cycle, growth is characterized by rapid increases in sales and it is in this stage that competitors appear.
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40. At which stage in the product life cycle do industry profits usually peak?
a) Introduction
b) Growth
c) Maturity
d) Decline
e) Commercialization
Ans: b
Feedback: The result of more competitors and more aggressive pricing is that profit usually peaks during the growth stage.
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41. Which of the following is a characteristic of the growth stage of the product life cycle?
a) Advertising emphasis switches to primary demand
b) Growing proportion of repeat purchasers to initial purchasers
c) Product features remain unchanged
d) Profit margins increase as sales increase
e) All of the above are characteristics of the growth stage of the product life cycle
Ans: b
Feedback: The growth stage of the product life cycle is characterized by (a) a switch to selective demand; (b) a growing proportion of repeat purchases to initial purchasers; (c) the addition of new or modified product features; and (d) stabilizing or declining profit margins from increased sales due to increased price competition from more competitors that have entered the market.
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42. Which of the following is a characteristic of the growth stage of the product life cycle?
a) Advertising emphasis switches to selective demand
b) Growing proportion of initial purchasers to repeat purchasers
c) Product features remain unchanged
d) Profit margins increase as sales increase
e) All of the above are characteristics of the growth stage of the product life cycle
Ans: a
Feedback: The growth stage of the product life cycle is characterized by (a) a switch to selective demand; (b) a growing proportion of repeat purchases to initial purchasers; (c) the addition of new or modified product features; and (d) stabilizing or declining profit margins from increased sales due to increased price competition from more competitors that have entered the market.
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43. Which of the following is a characteristic of the growth stage of the product life cycle?
a) Advertising emphasis switches to primary demand
b) Growing proportion of initial purchasers to repeat purchasers
c) Product features remain unchanged
d) Profit margins increase as sales increase
e) None of the above
Ans: e
Feedback: The growth stage of the product life cycle is characterized by (a) a switch to selective demand; (b) a growing proportion of repeat purchases to initial purchasers; (c) the addition of new or modified product features; and (d) stabilizing or declining profit margins from increased sales due to increased price competition from more competitors that have entered the market.
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44. Which of the following is a characteristic of the growth stage of the product life cycle?
a) Advertising emphasis switches to primary demand
b) Growing proportion of initial purchasers to repeat purchasers
c) Addition of new or modified product features
d) Profit margins increase as sales increase
e) None of the above
Ans: c
Feedback: The growth stage of the product life cycle is characterized by (a) a switch to selective demand; (b) a growing proportion of repeat purchases to initial purchasers; (c) the addition of new or modified product features; and (d) stabilizing or declining profit margins from increased sales due to increased price competition from more competitors that have entered the market.
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45. Which of the following is an example of a product in the growth stage of the product life cycle?
a) Digital cameras
b) Hybrid vehicles
c) HDTV
d) Soft drinks
e) Traditional TVs
Ans: a
Feedback: The growth stage of the product life cycle is characterized by (a) a switch to selective demand; (b) a growing proportion of repeat purchases to initial purchasers; (c) the addition of new or modified product features; and (d) stabilizing or declining profit margins from increased sales due to increased price competition from more competitors that have entered the market. Digital music players and digital cameras are examples of products in the growth stage of the product life cycle.
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46. Which stage in the product life cycle is characterized by a slowing of total industry sales or product class revenue?
a) Introduction
b) Growth
c) Maturity
d) Decline
e) Comparability
Ans: c
Feedback: The maturity stage is characterized by a slowing of total industry sales or product class revenue. Also, marginal competitors begin to leave the market. Most consumers who would buy the product are either repeat purchasers of the product or have tried and abandoned it.

Page: 304

Learning Objective: 1
47. During the maturity stage of the product life cycle, profit declines because __________.
a) there are fewer and fewer competitors in the market
b) better products are only in the growth stage
c) production costs increase the more a firm has to manufacture the same product
d) there is fierce price competition among sellers
e) all of the above
Ans: d
Feedback: Profit declines because there is fierce price competition among many sellers and the cost of gaining each new buyer at this stage rises.
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48. The marketing objective of a firm whose product is in the maturity stage of the product life cycle is to __________.
a) actively search out new first time users
b) hold market share
c) actively reinforce competitors' marketing efforts
d) maintain existing distributors and actively seek out new ones
e) shift to a skimming price strategy
Ans: b
Feedback: Marketing attention in the maturity stage is often directed toward holding market share through further product differentiation and finding new buyers.
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49. Promotional expenses at the maturity stage of the product life cycle are often designed to __________.
a) allow a price increase
b) further product differentiation
c) create primary demand
d) gain new distributors
e) eliminate distribution channels
Ans: b
Feedback: Marketing attention in the maturity stage is often directed toward holding market share through further product differentiation and finding new buyers.
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50. Which of the following statements is a characteristic of the maturity stage of the product life cycle?
a) Often this stage is entered because of environmental or technological factors
b) During this stage companies attempt to eliminate distribution channels
c) Sales increase at a decreasing rate
d) Industry profits peak because production and distribution costs are declining
e) Industry profit peaks, which is one stage after industry sales revenue peaks
Ans: c
Feedback: Sales increase at a decreasing rate in the maturity stage as fewer new buyers enter the market.
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51. Which of the following is an example of a product in the maturity stage of the product life cycle?
a) Digital cameras
b) Hybrid vehicles
c) HDTV
d) Soft drinks
e) Digital music players
Ans: d
Feedback: Numerous product classes and industries are in the maturity stage of their product life cycle. These include soft drinks, DVD players and conventional TVs.
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52. The growth of e-mail has __________.
a) led to a significant increase in the amount of faxing because communication is easier
b) led to a significant decrease in the amount of faxing
c) not greatly affected faxing
d) led to a significant increase in the amount of faxing because people don't trust just e-mail and want a hard copy fax
e) discouraged all forms of written communication
Ans: c
Feedback: The growth of e-mail has not affected faxing because the two technologies do not directly compete for the same messaging applications.
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53. Sales and profits both exhibit a steady downward trend throughout which stage of the product life cycle?
a) Introduction
b) Growth
c) Maturity
d) Decay
e) Decline
Ans: e
Feedback: In the decline stage, both sales and profits are steadily dropping.
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54. Which of the following statements about the decline stage of the product life cycle is true?
a) The decline stage occurs when sales increase at a decreasing rate
b) A product always enters decline based on at least one company mistake
c) Environmental changes may put a product into decline
d) Increasing marketing costs is a sound strategy for a product in decline
e) All the above are statements are true about the decline stage of the PLC
Ans: c
Feedback: The decline stage occurs when sales drop. Frequently, a product enters this stage not because of any wrong strategy on the part of companies, but because of environmental changes.
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55. Which of the following occur during the decline stage of the product life cycle?
a) Sales decrease substantially
b) Successful companies choose to delete or harvest a product in decline
c) The uncontrollable environment changes
d) Promotional support for the product becomes minimal
e) All of the above occur during the decline stage of the product life cycle
Ans: e
Feedback: The decline stage occurs when sales drop. Frequently, a product enters this stage not because of any wrong strategy on the part of companies, but because of environmental changes. A company will follow one of two strategies to handle a declining product: deletion or harvesting.

Page: 304

Learning Objective: 1
56. In the 1960s, television westerns were extremely popular. The shows were adventure shows with settings and costumes that were very unlike what really existed. There was Bonanza, Wagon Train, The Virginian, Laramie, etc. When viewers gradually stopped watching this category of programs, production companies found the networks no longer wanted to televise such shows. The television western as a product category entered the __________ stage.
a) decay
b) diversification
c) decline
d) maturity
e) harvesting
Ans: c
Feedback: The decline stage occurs when sales (or viewers in this case) drop. The programs entered the decline stage with declining viewership.
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57. To handle products in the decline stage of the product life cycle, companies often use either __________.
a) diversification or harvesting
b) diversification or contracting
c) deletion or harvesting
d) deletion or diversification
e) building or contracting
Ans: c
Feedback: To handle a declining product, a company will follow one of two strategies. Deletion is dropping the product from the company's product line; harvesting is retaining the product but reducing marketing costs.
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58. A number of years ago Pokémon was the hottest name in toys, but as other more high-tech toys appeared on the market, the popularity of Pokémon waned as did its sales. Pokémon has become only a memory for most toy retailers. Pokémon is in the __________ stage of its product life cycle.
a) decay
b) diversification
c) decline
d) maturity
e) contraction
Ans: c
Feedback: The market abandoning Pokémon shows that the market for Pokémon has started to decline. 

Page: 304, 305

Learning Objective: 1
59. Your product has been suffering from steadily eroding sales and profits. You have tried a number of options to revitalize the product's sales and profits, but after seven changes in your strategy, you have yet to find success. Which of the following actions would be the LEAST appropriate next step?
a) Delete the product from the line
b) Retain the product, but reduce its support costs
c) Stimulate primary demand
d) Reduce the production of the product
e) Reduce the marketing of the product
Ans: c
Feedback: When its product reaches the decline stage a company can follow one of two main options—deletion or harvesting. These are described in Alternatives a, b, d and e. It's much too late to try to stimulate primary demand for the product class, which normally occurs during the introduction stage of the product life cycle.

Page: 304, 305

Learning Objective: 1
60. Even though Liquid Paper correction fluid is in the __________ stage of the product life cycle, Gillette has not deleted it from its line because there is still a residual core of consumers who use the product.
a) introduction
b) growth
c) maturity
d) decline
e) diversification
Ans: d
Feedback: Dropping a product from a company's product line is called product deletion. It is one of two choices in the decline stage of the product life cycle.
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61. In the 1960s, television westerns were extremely popular. The shows were adventure shows with settings and costumes that were very unlike what really existed. There was Bonanza, Wagon Train, The Virginian, Laramie, etc. When viewers gradually stopped watching this category of programs, production companies found the networks no longer wanted to televise such shows. The production companies used a __________ strategy and stopped production on all television westerns when the networks stopped showing them.
a) diversification
b) aggregation
c) segmentation
d) deletion
e) harvesting
Ans: d
Feedback: Dropping a product from a company's product line is called product deletion.
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62. A strategy of dropping a product from the product line, usually in the decline stage of the product life cycle is called __________.
a) diversification
b) aggregation
c) segmentation
d) deletion
e) harvesting
Ans: d
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63. __________ occurs when a company retains a product but reduces marketing costs.
a) Skimming
b) Harvesting
c) Profiting
d) Deletion
e) Divesting
Ans: b
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64. When a product reaches the decline stage of the product life cycle, a firm has two choices. One choice involves product deletion, where a product is dropped from a firm's product line. Another less drastic choice is to retain the product in the product line, but to reduce marketing costs. When this option called __________ is selected, advertising expenditures for the product are reduced and salespeople do not devote their efforts to selling the product.
a) decline maintenance
b) diversification
c) divestment
d) maturity re-development
e) harvesting
Ans: e
Feedback: In essence, when a harvesting strategy is employed with products in the decline stage, the marketing firm reduces marketing efforts for the product and simply collects the revenues realized from ongoing customer needs and requests. The future of such products is limited to existing customer demand.
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65. A strategy of harvesting may be employed in the decline stage of a product life to __________.
a) maintain primary demand for a product category
b) get as many new customers as possible
c) maintain the ability to meet customers' requests
d) eliminate production and distribution costs
e) reposition the product
Ans: c
Feedback: Harvesting is when a company retains the product but reduces marketing costs. The product continues to be offered, but salespeople do not allocate time in selling nor are advertising dollars spent. The purpose of harvesting is to maintain the ability to meet customer requests.
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66. Generally, the average length of time it takes for a product category to move from the introduction stage of its product life cycle to the decline stage is __________.
a) 18 months
b) 5-10 years
c) 20 years
d) 30 years
e) unpredictable
Ans: e
Feedback: There is no exact time that a product takes to move through its life cycle.
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67. Figure 11-4 shows that in 1995 the 8-bit video game consoles and softwares were in which stage of the product life cycle?
a) Introduction
b) Growth
c) Maturity
d) Harvest
e) Decline
Ans: e
Feedback: The product life cycle has four stages: introduction, growth, maturity and decline. In the decline stage sales are falling. 
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68. Figure 11-4 shows that in 1995 the 32/64-bit video game consoles and software programs were in which stage of the product life cycle?
a) Introduction
b) Growth
c) Maturity
d) Harvest
e) Decline
Ans: a
Feedback: The product life cycle has four stages: introduction, growth, maturity and decline. The introductory stage of the product life cycle occurs when a product is introduced to its target market.
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69. Figure 11-4 shows that in 2003 the 128- bit video games consoles and software programs were in the __________ stage of the product life cycle, while their 32/64-bit counterparts were in the __________ stage.
a) introduction; growth
b) growth; introduction
c) maturity; growth
d) harvest; decline
e) introduction; decline
Ans: e
Feedback: The product life cycle has four stages: introduction, growth, maturity and decline. In 2003 the 128-bit machines were in the introduction stage while the 32/64 ones were in the decline stage. 
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70. Figure 11-4 shows that in 2005 the 128-bit video game consoles and software programs were in which stage of the product life cycle?
a) Introduction
b) Growth
c) Maturity
d) Harvest
e) Decline
Ans: c
Feedback: The product life cycle has four stages: introduction, growth, maturity and decline. The maturity stage of the product life cycle occurs when sales of that product is increasing at a decreasing rate. 
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71. Figure 11-4 shows that in 1989 the 16-bit video game consoles and software programs were in which stage of the product life cycle?
a) Introduction
b) Growth
c) Maturity
d) Harvest
e) Decline
Ans: a
Feedback: The product life cycle has four stages: introduction, growth, maturity and decline. The 16-bit were in the decline stage of the product life cycle in 2007.
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72. There is no exact time that a product takes to move through its life cycle. As a rule __________.
a) fad products have the longest lifecycle
b) consumer products have shorter life cycles than business products
c) packaged goods have a shorter life cycle than fads
d) technological change tends to lengthen product life cycles
e) there is a new product life cycle for each fashion product
Ans: b
Feedback: Consumer products have shorter life cycles than business products because the availability of mass communication vehicles informs consumers quickly and shortens product life cycles.
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73. The product life cycle (PLC) shown in "A" in Figure 11-3 is an example of a __________ PLC.
a) high-learning product
b) low-learning product
c) fashion product
d) fad product
e) introductory
Ans: a
Feedback: A high-learning product is one for which significant customer education is required and there is an extended introductory period.

Page: 305, figure 11-3

Learning Objective: 1
[image: image11.wmf]
74. The product life cycle (PLC) shown in "B" in Figure 11-3 is an example of a __________ PLC.
a) high-learning product
b) low-learning product
c) fashion product
d) fad product
e) introductory
Ans: b
Feedback: A low-learning product is one for which little customer education is required and there is very short introductory period.
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75. The product life cycle (PLC) shown in "C" in Figure 11-3 is an example of a __________ PLC.
a) high-learning product
b) low-learning product
c) fashion product
d) fad product
e) introductory
Ans: c
Feedback: A fashion product is a style of the times. Fashion products are introduced, decline and then seem to return. The length of the cycles may be months, years or decades..
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76. The product life cycle (PLC) shown in "D" in Figure 11-3 is an example of a __________ PLC.
a) high-learning product
b) low-learning product
c) fashion product
d) fad product
e) introductory
Ans: d
Feedback: A fad experiences rapid sales on introduction and then an equally rapid decline. These products are typically novelties and have a short life cycle.
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77. Which of the following product types is NOT represented by one of the product life cycle shapes shown in Figure 11-3?
a) Primary
b) High-learning
c) Fashion
d) Low-learning
e) Fad
Ans: a
Feedback: Figure 11-3 shows a typical product life cycle for a high-learning product, a low-learning product, a fashion product and a fad.
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78 An extended introduction stage of the product life cycle occurs for which type of product?
a) High learning
b) Low learning
c) Fashion
d) Fad
e) Primary
Ans: a
Feedback: A high learning product is one for which significant education of the customer is required, which results in an extended introductory stage of the product life cycle.
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79. Interactive television with video-on-demand capabilities changes how people watch television and how consumers access the Internet. This technology requires significant customer education for most people. What type of a product life cycle would be associated with this product?
a) Exceptional
b) High learning
c) Low learning
d) Fashion
e) Fad
Ans: b
Feedback: A high learning product is one for which significant education of the consumer is required and there is an extended introductory stage of the product life cycle.
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80. An alternative product life cycle that results from products that are easily imitated by competitors, consumers who readily understand their benefits and for which the appropriate marketing strategy is to gain strong distributor outlets is characteristic of __________ products.
a) high-learning
b) low-learning
c) fashion
d) fad
e) substitute
Ans: b
Feedback: Low learning products, for which consumers understand their benefits, try to gain strong distributor outlets at the beginning so as competitors enter the market, the best outlets already have the innovator's product.
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81. Imagine Eveready has developed solar rechargeable batteries that cost only slightly more to produce than regular batteries (less than the rechargeable batteries currently available) and can be recharged by sunlight up to 5 times, after which they are meant to be discarded. Unfortunately, the production process cannot be patented and competitors could arrive within a few months. Which of the following is the best description of the product life cycle of this product?
a) Rapid growth followed by rapid decline
b) Long, level beginning and rapid ascent
c) Moderately slow introduction, followed by modest growth, gradually leveling off
d) High introductory sales, with rapid decline
e) High initial sales followed by slow decline
Ans: c
Feedback: Consumers will need to be educated about the availability and benefits of the new type of battery. Therefore, a slow introductory period is likely. Growth will slow as competitors enter the market. Alternative A is a fad product. Alternative B shows no growth in the introduction stage so these are incorrect. Alternatives D and E don't reflect reasonable product life cycles.
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82. Products that are introduced, decline and seem to return are characteristic of the __________ type of product life cycle.
a) high-learning
b) low-learning
c) fashion
d) fad
e) primary
Ans: c
Feedback: A fashion product, such as hemline lengths on skirts or lapel widths on sport jackets is introduced, declines and then seems to return.
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83. Which of the following products is the best example of a product that might experience an introduction, a decline and a reintroduction as part of its normal product life cycle?
a) Cat food
b) Veterinarian services
c) Cake mixes
d) Fishnet stockings
e) Paperclips
Ans: d
Feedback: Women's and men's clothing are most likely to be fashion products. Fashion products like fishnet stockings are most likely to experience the product life cycle described in the question.
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84. Which type of product has equally rapid introduction and decline stages of the product life cycle?
a) High-learning products
b) Low-learning products
c) Fashion products
d) Fad products
e) Primary products
Ans: d
Feedback: A fad, such as wall walkers or toe socks, experiences rapid sales on introduction and then an equally rapid decline.
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85. Some singers sing a great song that shoots to the top of the chart. The singers go on tour and have sold-out concerts everywhere they appear. Just as quickly (particularly if they are unable to follow their first hit song with a second one), they are singing to half-filled concerts and then to smaller clubs and eventually no one wants to hear them perform. Such one-hit singers are best categorized as __________ products.
a) high-learning
b) low-learning
c) fashion
d) fad
e) primary
Ans: d
Feedback: A fad experiences rapid sales on introduction and then an equally rapid decline as is the case with the singer's ascent and decline in concert ticket sales.
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86. __________ refers to the entire product category or industry, such as prerecorded music.
a) Product form
b) Product class
c) Product line
d) Product family
e) Product brand
Ans: b
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87. Variations of a product within a product class are called __________.
a) product form
b) product design
c) product line
d) product family
e) product brand
Ans: a
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88. Product class refers to the entire product category or industry, while product form refers to __________.
a) a distinctive shape
b) variations within the class
c) similarities within the category
d) variations from socioeconomic norms
e) exactly the same thing
Ans: b
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89. When consumers consider all types of household cleaners, they are considering the __________ of household cleaners. When consumers limit their choice of household cleaners to only those that come in spray bottles, they are considering a __________ of household cleaners.
a) product class; product brand
b) product group; product brand
c) product line; product mix
d) product mix; product line
e) product class; product form
Ans: e
Feedback: A product class is represented by all products in a related category or industry (i.e., all household cleaners; all automobiles; all types of footwear). A product form refers to specific variations within a product class (i.e., spray household cleaners; domestic automobiles; cowboy boots).
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90. Televisions are an example of a __________ and flat screen TVs are an example of a __________.
a) product line; product class
b) product family; product line
c) product brand; product line
d) product form; product class
e) product class; product form
Ans: e
Feedback: Product class refers to the entire product category or industry; product form pertains to variations within the class.
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91. Greeting cards are an example of a __________ and Valentine cards are an example of a __________.
a) product line; product class
b) product family; product line
c) product brand; product line
d) product form; product class
e) product class; product form
Ans: e
Feedback: Product class refers to the entire product category or industry; product form pertains to variations within the class.
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92. The four products shown in Figure 11-4 are members of the same __________.
a) product form
b) product design
c) product line
d) product family
e) product class
Ans: e
Feedback: Product class refers to the entire product category or industry; product form pertains to variations within the class.
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93. Figure 11-4 shows that at the height of their sales about __________ CDs were sold per year.
a) US$15,000
b) US$15,000,000
c) US$15,000,000,000
d) US$12,000,000,000
e) US$12,000,000

Ans: c
Feedback: 32/64-bit machine reached US$15 billion in 2000 according to Figure 11-4.
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94. The consumers represented by "A" in Figure 11-5 are called __________.
a) innovators
b) iate majority
c) early majority
d) early adopters
e) laggards
Ans: a
Feedback: Figure 11-5 shows the consumer population divided into five categories of product adopters based on when they adopt a new product: (A) innovators, (B) early adopters, (C) early majority, (D) late majority and (E) laggards.
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95. The consumers represented by "B" in Figure 11-5 are called __________.
a) innovators
b) late majority
c) early majority
d) early adopters
e) laggards
Ans: d
Feedback: Figure 11-5 shows the consumer population divided into five categories of product adopters based on when they adopt a new product: (A) innovators, (B) early adopters, (C) early majority, (D) late majority and (E) laggards.
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96. The consumers represented by "C" in Figure 11-5 are called __________.
a) innovators
b) late majority
c) early majority
d) early adopters
e) laggards
Ans: c
Feedback: Figure 11-5 shows the consumer population divided into five categories of product adopters based on when they adopt a new product: (A) innovators, (B) early adopters, (C) early majority, (D) late majority and (E) laggards.
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97. The consumers represented by "D" in Figure 11-5 are called __________.
a) innovators
b) late majority
c) early majority
d) early adopters
e) laggards
Ans: b
Feedback: Figure 11-5 shows the consumer population divided into five categories of product adopters based on when they adopt a new product: (A) innovators, (B) early adopters, (C) early majority, (D) late majority and (E) laggards.
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98. The consumers represented by "E" in Figure 11-5 are called __________.
a) innovators
b) late majority
c) early majority
d) early adopters
e) laggards
Ans: e
Feedback: Figure 11-5 shows the consumer population divided into five categories of product adopters based on when they adopt a new product: (A) innovators, (B) early adopters, (C) early majority, (D) late majority and (E) laggards.
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99. With diffusion of innovation, __________.
a) once a product enters the market, very similar products will enter within a very short period of time
b) one new product will produce ancillary product invention (e.g., video cassettes created a market for cassette holders)
c) not all consumers accept a new product at the same time because adoption of a product spreads slowly throughout the population
d) product changes by one competitor lead to similar product changes by another competitor
e) unique efforts are made to create primary demand
Ans: c
Feedback: Not all consumers rush to buy a product in the introductory stage and the shapes of the life cycle curves indicate that most sales occur after the product has been on the market for some time.
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100. The life cycle of a product depends on sales to customers. The shapes of life-cycle curves indicate that most sales occur after the product has been on the market for some time. The concept that some people are attracted to a product early while others buy it only after they see their friends with the product is called __________.
a) dissociative purchasing
b) timed profiling
c) the categories of adopters' model
d) diffusion of innovation
e) derivation of markets
Ans: d
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101. All of the following are categories of consumers based on when they purchase a new product, the information sources they use and their risk-taking orientation EXCEPT __________.
a) initiators
b) early adopters
c) early majority
d) late majority
e) laggards
Ans: a
Feedback: The first category of product adopters relative to the diffusion of innovation is innovators, not initiators.
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102. The largest numbers of product adopters with respect to the diffusion of innovation are found among __________.
a) early adopters and laggards
b) early majority and late majority
c) late majority and laggards
d) innovators and early majority
e) innovators and early adopters
Ans: b
Feedback: Early majority adopters and late majority adopters each consist of about a third of the total population that will adopt a new product at some point during a product life cycle.
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103. As product adopters, innovators typically __________.
a) fear debt and use neighbors and friends as information sources
b) are skeptical and have below average social status
c) act with deliberation and use many informal social contacts
d) are leaders in social standing and have slightly above average education when compared to the other adopter classes
e) are venturesome, better educated than other product adopters and use multiple information sources
Ans: e
Feedback: Figure 11-5 provides profiles of five categories of product adopters. Innovators are venturesome, higher educated and use multiple information sources.
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104. As product adopters, early adopters typically __________.
a) fear debt and use neighbors and friends as information sources
b) are skeptical and have below average social status
c) act with deliberation and use many informal social contacts
d) are leaders in social standing and have slightly above average education when compared to the other adopter classes
e) are venturesome, better educated than other product adopters and use multiple information sources
Ans: d
Feedback: Figure 11-5 provides profiles of five categories of product adopters. Early adopters are leaders in social settings with slightly above average education.
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105. As product adopters, members of the early majority typically __________.
a) fear debt and use neighbors and friends as information sources
b) are skeptical and have below average social status
c) act with deliberation and use many informal social contacts
d) are leaders in social standing and have slightly above average education when compared to the other adopter classes
e) are venturesome, better educated than other product adopters and use multiple information sources
Ans: c
Feedback: Figure 11-5 provides profiles of five categories of product adopters. The early majority is deliberate and has many social contacts.
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106. As product adopters, members of the late majority typically __________.
a) fear debt and use neighbors and friends as information sources
b) are skeptical and have below average social status
c) act with deliberation and use many informal social contacts
d) are leaders in social standing and have slightly above average education when compared to the other adopter classes
e) are venturesome, better educated than other product adopters and use multiple information sources
Ans: b
Feedback: Figure 11-5 provides profiles of five categories of product adopters. The late majority typically is skeptical with below average social status.
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107. As product adopters, laggards typically __________.
a) fear debt and use neighbors and friends as information sources
b) are skeptical and have below average social status
c) act with deliberation and use many informal social contacts
d) are leaders in social standing and have slightly above average education when compared to the other adopter classes
e) are venturesome, better educated than other product adopters and use multiple information sources
Ans: a
Feedback: Figure 11-5 provides profiles of five categories of product adopters. Laggards have a fear of debt and neighbors and friends are their information sources.
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108. When the personal computer was first introduced, industry analysts predicted that very few would be sold. However, a short time after the product was made available, consumers who were young, highly educated, adventuresome and who were well informed began buying personal computers. While those buyers were relatively few in number, the marketers of computers were encouraged because other, less adventuresome consumers would likely adopt personal computers later. According to the product adoption classification, those first buyers of personal computers were __________.
a) early adopters
b) early majority
c) innovators
d) product leaders
e) diffusion leaders
Ans: c
Feedback: Innovators are characterized as being adventuresome, having a high level of education and having access to multiple sources of information.
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109. Imagine Post Cereal introduces a cereal bar just like the ones Kellogg's and Quaker already have on the market. Post has decided to promote the bars using ads without coupons and to price the bars at about the same price as the other brands. Post Cereal bars will also be distributed to the same stores as the Kellogg's and Quaker products. Which of the following barriers to new product adoption will most likely prevent the Post Cereal bars from being a successful product?
a) Value barrier
b) Psychological barrier
c) Economic barrier
d) Usage barrier
e) Social barrier
Ans: a
Feedback: Value barriers mean the product (the Post Cereal bars) provides no incentive to change. Its marketing strategy is the same as all the other similar products.
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110. A new exercise video contends that with one day of fasting and one one-hour period of intense cardiovascular exercise, the average individual can lose five pounds a week and be in peak health within six months of starting the program. __________ barriers will doom the new product to failure because the product's claims are not consistent with what consumers do and how they think.
a) psychological
b) social
c) physical
d) value
e) usage
Ans: e
Feedback: Usage barriers occur because the product is not compatible with existing habits. Value barriers occur because the product provides no incentive to change. Psychological barriers result from cultural differences. Risk barriers include physical, economic or social barriers to product acceptance.
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111. Why would the manufacturer of a new all-natural-ingredient shampoo and conditioner put free samples of the product in Sunday newspapers?
a) To simulate laggard usage of the product
b) To encourage product adoption
c) To control innovation diffusion
d) To avoid any possibility of litigation
e) To circumvent the typical adoption cycle
Ans: b
Feedback: Free samples are one of the most popular means to gain consumer trial and it is logical that increased consumer trial will lead to increased adoption.
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112. Introduced by Procter & Gamble in 1928 and used by such consumer goods firms as General Foods and Frito-Lay and by industrial firms such as Intel and Hewlett-Packard, the product manager manages the marketing efforts for __________.
a) all of the corporation's products or brands
b) diverse assortment of varied products or brands
c) existing products through the stages of the life cycle
d) those aspects of products or brands that require close fiscal scrutiny
e) a close-knit family of products or brands
Ans: e
Feedback: The product manager, sometimes called brand manager, manages the marketing efforts for a close-knit family of products or brands.
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113. Another name for product manager is __________.
a) product supervisor
b) brand manager
c) marketing manager
d) advertising and promotion manager
e) sales manager
Ans: b
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114. __________ is a strategy that involves altering a product's characteristic such as its quality, performance or appearance to try to increase the product's value to customers and increase sales.
a) Market modification
b) Product modification
c) Product repositioning
d) Market-product strategy
e) Diversification
Ans: b
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115. Ten years ago, Sentosa was a nice place to visit with sandy beaches, resorts and restaurants. With the addition of Integrated Resorts coming into existence in the next few years, Sentosa improved its odds of being a tourist destination for more travelers. This is an example of __________.
a) a market-product strategy
b) diversification
c) market modification
d) product modification
e) harvesting
Ans: d
Feedback: Product modification is a strategy that involves altering a product's characteristics such as its quality, performance or appearance to try to increase the product's value to customers and increase sales.
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116. Strepsils was made originally as a hangover remedy to sooth the throat. Today, you can purchase Strepsils Regular, Strepsils Orange, Lemon and Honey, Menthol Eucalyptus, Sugar Free Lemon/ Strawberry, Strepsils Anasthetic and Strepsils Antiseptic. To extend the product's sales to new markets, the makers of Strepsils have used __________.
a) a market-product strategy
b) diversification
c) market modification
d) product modification
e) harvesting
Ans: d
Feedback: Product modification is a strategy that involves altering a product's characteristics such as its quality, performance or appearance to try to increase the product's value to customers and increase sales.
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117. Pizza Hut’s recent introduction of the thin and crispy crust pizza on top of its original thick crust is an example of __________ and should attract new buyers.
a) a market-product strategy
b) diversification
c) market modification
d) product modification
e) harvesting
Ans: d
Feedback: Product modification is a strategy that involves altering a product's characteristic such as its quality, performance or appearance to try to increase the product's value to customers and increase sales.
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118. ___________ is a strategy for managing a product's life cycle that attempts to increase a product's use among existing customers, create new use situations or find new customers.
a) Market modification
b) Product modification
c) Product repositioning
d) Customer orientation
e) Diversification
Ans: a
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119. When Coca-Cola promoted Coke as a morning beverage when you didn't want coffee, it was using __________.
a) product modification
b) repositioning
c) market modification
d) market-product extension
e) diversification
Ans: c
Feedback: With market modification strategies, a company tries to find new customers, increase a product's use among existing customers or create new use situations. Coca-Cola was using market modification strategy because it was trying to increase product usage.
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120. Condoms, originally intended for contraception, is now being promoted as protection against AIDS and other sexually transmitted diseases. Which of the following market modification strategies is used here? 
a) Finding new users
b) Creating new use situations
c) Increasing use by existing customers
d) Modifying the product characteristics
e) Doing none of the above
Ans: b
Feedback: With market modification strategies, a company tries to find new customers, increase a product's use among existing customers or create new use situations. Finding new uses for a more mature product helps extend the product's life cycle, as in the case of condoms.
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121. Sugarcane producers are now promoting them as an alternative source of energy to oil. They are __________.
a) finding new users through a product modification strategy
b) creating new use situations through a market modification strategy
c) increasing use by existing customers through a product modification strategy
d) modifying the product characteristics
e) demarketing the product
Ans: b
Feedback: With market modification strategies, a company tries to find new customers, increase a product's use among existing customers or create new use situations. Finding new uses for a more mature product helps extend the product's life cycle, as in the case of sugarcanes. 
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122. Car manufacturers are offering buying incentives to newly graduated college students who traditionally have little or no credit. Car manufacturers are using which of the following market modification strategies?
a) Finding new users
b) Creating new use situations
c) Increasing use by existing customers
d) Modifying the product
e) Reacting to competitors' positions
Ans: a
Feedback: By offering buying incentives to college students, automobile manufacturers can tap a sizable market of new customers who might otherwise not buy a new car.
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123. Tiger Beer started by targeting male drinkers. Over the years its marketing strategies target the female drinkers as well. In this example, Tiger Beer is using which of the following market modification strategies?
a) Finding new users
b) Creating new use situations
c) Increasing use by existing customers
d) Modifying the product
e) Reacting to competitors' positions
Ans: a
Feedback: By including women in their marketing efforts, Tiger Beer increased the number of potential customers.
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124. As shown in the Using Marketing Dashboards Figure above a BDI of 30 indicates __________.
a) strong brand sales in households without children
b) the Bali Punch Brand has more sales in the "Households without Children" segment than the fruit drink category
c) the percent of Bali Punch sold to households without children in Indonesia divided by the percent of Indonesia’s population in the "Households without children" segment multiplied by 100
d) the "Households without Children" segment is an excellent segment to pursue because this segment purchases lots of fruit drinks
e) all of the above are true
Ans: c
Feedback: The Brand Development Index (BDI) = percent of a brand's total sales in a market segment in a country divided by percent of the total population in a market segment in the same country multiplied by 100.
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125. If you were a marketing manager and presented with the information in the Using Marketing Dashboards Figure above, which segment has the most opportunity for increasing Bali Punch sales?
a) Households without children
b) Households with children 13 to 18 years old
c) Households with children under 6 years old
d) Households with children 7 to 12 year old
e) All of the segments have equal opportunity for increasing Bali punch sales according to the figure
Ans: b
Feedback: Households with children 13 to 18 years old evidence high fruit drink consumption with a CDI over 100. But Bali Punch is relatively weak in this segment with a BDI under 100, thus representing the best opportunity to increase sales.
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126. In the Using Marketing Dashboards Figure above, the information presented suggests that which segment consumes the most fruit drinks?
a) Households without children
b) Households with children 13 to 18 years old
c) Households with children under 6 years old
d) Households with children 7 to 12 year old
e) All of the segments consume equal amounts of Bali punch according to the figure
Ans: d
Feedback: The Category Development Index (CDI) is highest for households with children 7 to 12 years old at 130. This means that this particular segment consumes more fruit drinks than the others. It is followed by households with children 13 to 18 years old at 120, households with children under 6 years old at 90 and finally households without children at 40.
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127. In the Using Marketing Dashboards Figure above, the information presented suggests that which segment consumes the least amount of fruit drinks?
a) Households without children
b) Households with children 13 to 18 years old
c) Households with children under 6 years old
d) Households with children 7 to 12 year old
e) All of the segments consume equal amounts of Bali punch according to the figure
Ans: a
Feedback: The Category Development Index (CDI) is highest for households with children 7 to 12 years old at 130. This means that this particular segment consumes more fruit drinks than the others. It is followed by households with children 13 to 18 years old at 120, households with children under 6 years old at 90 and finally households without children at 40 consume the fewest amount of fruit drinks.

Page: 309

Learning Objective: 2
128. Changing the place a product occupies in a consumer's mind relative to competitive products is called __________.
a) market modification
b) product modification
c) product repositioning
d) product development
e) differentiation
Ans: c
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129. All of the following are factors that trigger product repositioning as a marketing action EXCEPT __________.
a) changing the value offered to consumers relative to competitive products by adding or deleting features
b) catching a rising trend due to changes in consumer preferences relative to competitive products
c) reaching a new market due to sluggish sales in the currently targeted market
d) reacting to a competitor's entrenched product position that is adversely affecting the firm's sales and market share
e) copying competitors' sales promotion strategies to increase the trial and repeat purchase behavior of consumers relative to the firm's product
Ans: e
Feedback: Product repositioning changes the place a product occupies in a consumer's mind relative to competitive products. Four factors that trigger the need for a repositioning action are: (1) reacting to a competitor's position, (2) reaching a new market, (3) catching a rising trend, (4) changing the value offered.
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130. Sealy, the largest manufacturer of mattresses in the U.S., recently set out to redefine its place in the bedrooms of America. No longer was it going to be associated as simply a mattress company. Henceforth, the name Sealy was going to be known as the world's leading "sleep wellness provider". This is an example of __________.
a) reverse marketing
b) demarketing
c) repositioning
d) resegmenting
e) reverse targeting
Ans: c
Feedback: Product repositioning changes the place a product occupies in a consumer's mind relative to competitive products. Sealy was changing its position from a mattress provider to a sleep wellness provider in the minds of the target market.
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131. New Coke was repositioned as a slightly sweeter, less filling soft drink because the Coca-Cola Company discovered that its 1984 market share in supermarkets was 2 percent behind Pepsi. This product repositioning strategy was __________.
a) a reaction to a competitor's position
b) to reach a new market
c) to catch a rising trend
d) to change the value offered
e) to change its target audience
Ans: a
Feedback: One reason to reposition a product is because a competitor's entrenched position is adversely affecting sales and market share as was the case with Coke in 1984.
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132. Procter & Gamble used advertising and new packaging to change the place that Old Spice anti-perspirant has in the mind of the target consumer—18 to 30 year old males. P & G __________ the Old Spice brand.
a) reinvented
b) restored
c) reconfigured
d) realigned
e) repositioned
Ans: e
Feedback: P & G changed the place Old Spice occupies in a consumer's mind relative to competitive products; they repositioned the product.
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133. Snickers candy bar was repositioned from a candy bar to a snack food through commercials that showed busy people satisfying their hunger with a Snickers bar. Mars, Inc. used this strategy with its Snickers bar to __________.
a) react to a competitor's position
b) reach a new market
c) catch a rising trend
d) change the value offered
e) do none of the above
Ans: b
Feedback: Mars, Inc., makers of Snickers, saw that time pressures meant more consumers were looking for a quick snack. By positioning the peanut filled candy bar as an energy-filled snack, it was able to reach a much larger market.
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134. Old Spice anti-perspirant was repositioned from a deodorant your grandfather might use to a strong, hip anti-perspirant through commercials that showed the target market of 18 to 30 year old men advocating its use and through a money-back guarantee. P & G used this strategy with its Old Spice brand anti-perspirant to __________.
a) react to a competitor's position
b) reach a new market
c) catch a rising trend
d) change the value offered
e) do none of the above
Ans: b
Feedback: P & G, Inc., makers of Old Spice saw that younger men had no memory of the Old Spice brand and were willing to try it, especially with a money-back guarantee.
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135. For many years, Kellogg's Frosted Flakes, a ready-to-eat breakfast cereal, was perceived as a cereal for children. Tony the Tiger, a cartoon character, extolled Frosted Flakes and advertisements depicted children enjoying the product in competitive situations. Recently, in response to declining sales of Frosted Flakes, the cereal-maker has adopted a new series of advertisements that show adults admitting they enjoy Frosted Flakes, too. Kellogg's is attempting to __________.
a) develop alternative product selection factors
b) reposition its product
c) complete the product life cycle of Frosted Flakes
d) introduce new uncontrollable elements into the marketing mix
e) introduce a new product
Ans: b
Feedback: Product repositioning means that a firm attempts to change the way in which consumers perceive its product. Kellogg's is attempting to change the place Frosted Flakes occupies in the minds of consumers in relation to alternative, competing breakfast food products.
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136. Pretzels were first introduced as a salty snack. Later the product was repositioned as a low-fat snack to __________.
a) respond to a competitor's head-on positioning strategy
b) reach a new market
c) catch a rising trend
d) change the value offered
e) change its target audience
Ans: c
Feedback: Pretzels capitalized on the "better-for-you" trend in the food industry where weight conscious customers pay close attention to the amount of calories in their diet. 
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137. An aging baby boomer population has led to increased interest in developing and marketing products to satisfy the needs of this potentially large market. As a result moisturizing creams like Oil of Olay are now positioned as "age-defying" creams. This is an example of which of the four factors that may trigger a repositioning action?
a) Reacting to a competitor's position
b) Reaching a new market
c) Catching a rising trend
d) Changing the value offered
e) Product modification
Ans: c
Feedback: The aging baby boomers are waging a valiant fight against aging and marketers are helping them by creating products that will appeal to this market.
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138. Johnson & Johnson effectively __________ St. Joseph Aspirin from one for infants to an adult low-strength aspirin to reduce the risk of heart problems or strokes.
a) reinvented
b) restored
c) reconfigured
d) realigned
e) repositioned
Ans: e
Feedback: Johnson & Johnson effectively repositioned St. Joseph Aspirin from one for infants to an adult low-strength aspirin to reduce the risk of heart problems or strokes, thus reaching a new market.
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139. Which of the following repositioning strategies requires a change in the physical product?
a) Increasing use
b) Creating new use situations
c) Finding new users
d) Changing the value offered
e) Catching a rising trend
Ans: d
Feedback: Value is increased by adding features or higher quality materials. This is known as trading up. Value can also be decreased by reducing the number of features, quality or content of the product, known as trading down.
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140. Trading up involves adding value to a product (or line) through __________.
a) adding product features but reducing the price
b) adding product features and using higher quality product materials
c) reducing product features and using lower quality product materials
d) decreasing the number of features and quality and lowering the price of a product
e) downsizing
Ans: b
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141. Michelin and Goodyear have developed a "run-flat" tire that can travel up to 50 miles at 55 miles per hour after suffering total air loss. This is an example of __________.
a) adding product features but reducing the price
b) adding product features and using higher quality product materials
c) reducing product features and using lower quality product materials
d) decreasing the number of features and quality and lowering the price of a product
e) downsizing
Ans: b
Feedback: Trading up involves adding value to the product (or line) through additional features or higher-quality materials. Michelin and Goodyear have added product features and used high quality product materials to develop this tire.
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142. The strategy of trading down involves __________.
a) adding product features and using lower quality product materials
b) adding product features and using higher quality product materials
c) reducing product features and using lower quality product materials
d) deducing the number of features, quality or price of a product
e) seeking a less price sensitive target market
Ans: d
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143. __________ refers to reducing the content of packages without changing package size and maintaining or increasing the package price.
a) Top-down marketing
b) Trading up
c) Bottom-up marketing
d) Game-playing
e) Downsizing
Ans: e
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144. Downsizing is reducing the __________.
a) quality of materials
b) product's price
c) content of a package without changing its size while maintaining or increasing the package price
d) number of product features offered to consumers
e) number of brands offered and the total number of products manufactured
Ans: c
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145. Procter and Gamble reduced the weight of its best-selling powder detergent Tide from 87 ounces to 70 ounces without any price cut. Procter and Gamble is practicing __________.
a) top-down marketing
b) trading up
c) bottom-up marketing
d) game playing
e) downsizing
Ans: e
Feedback: Downsizing is reducing the content of packages without changing its size while maintaining or increasing the package price.
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146. Consumer advocates believe the practice of downsizing by consumer products firms has resulted in __________.
a) lower product prices for consumers because of lower labor, raw material and packaging costs due to the recession and lower inflation 
b) a greener environment due to the reduction in the amount of packaging used for promotional purposes thereby reducing the amount of waste disposed in landfills
c) fewer products and less product variability offered due to the corporate restructuring taking place worldwide
d) keeping prices from rising beyond the psychological barriers consumers have developed for products
e) a subtle, yet deceptive practice of taking advantage of consumers' buying habits by offering less product content in the same or larger package while maintaining or increasing the price
Ans: e
Feedback: Consumer advocates charge that downsizing the content of packages while maintaining prices is a subtle and unannounced way of taking advantage of consumer buying habits. Alternative d is the position of consumer product marketers, not consumer advocates.
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147. The decision an organization makes to use a name, phrase, design, symbol or combination of these to identify its products and distinguish them from those of competitors is called __________.
a) product identification
b) branding
c) trademarking
d) copyrighting
e) licensing
Ans: b
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148. A ___________ is any word, device (design, sound, shape or color) or combination of these used to distinguish a seller's goods or services.
a) copyright
b) trade name
c) brand mark
d) brand name
e) generic brand
Ans: d
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149. A brand name is __________.
a) any word, device (design, sound, shape or color) or combination of these used to distinguish a seller's goods or services
b) the part of a brand name that can be spoken
c) the part of a brand that is a symbol or design and cannot be spoken
d) the commercial, legal name under which a company does business
e) legal identification of a company's exclusive rights to use a brand name, brand mark or trade name
Ans: a
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150. The bright yellow M on a red background is a famous sign of McDonald’s outlets. The logo is an example of a __________.
a) copyright
b) trade name
c) service mark
d) brand name
e) generic brand
Ans: d
Feedback: A brand name is any word, device (design, sound, shape or color) or combination of these used to distinguish a seller's goods or services.
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151. The swoosh that appears on every Nike product is an example of a __________.
a) copyright
b) trade name
c) service mark
d) brand name
e) generic brand
Ans: d
Feedback: A brand name is any word, device (design, sound, shape or color) or combination of these used to distinguish a seller's goods or services.
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152. The apple that appears on every Apple computer product is an example of a __________.
a) copyright
b) trade name
c) service mark
d) brand name
e) generic brand
Ans: d
Feedback: A brand name is any word, device (design, sound, shape or color) or combination of these used to distinguish a seller's goods or services.
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153. A trade name is __________.
a) any word, device (design, sound, shape or color) or combination of these used to distinguish a seller's goods or services
b) the part of a brand that can be spoken
c) the part of a brand that is a symbol or design and cannot be spoken
d) the commercial, legal name under which a company does business
e) the identification that a firm has legally registered its brand name so the firm has exclusive use of it
Ans: d
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154. The Coca-Cola Company is the __________ of that firm.
a) logo
b) brand name
c) trade name
d) brand identity
e) trademark
Ans: c
Feedback: A trade name is a commercial, legal name under which a company does business. The Coca-Cola Company is the trade name of that firm.
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155. A trademark is __________.
a) any word, device (design, sound, shape or color) or combination of these used to distinguish a seller's goods or services
b) the part of a brand that can be spoken
c) the part of a brand that is a symbol or design and cannot be vocalized
d) the commercial, legal name under which a company does business
e) the identification that a firm has legally registered its brand name or trade name so the firm has its exclusive use
Ans: e
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156. A __________ identifies that a firm has legally registered its brand name or trade name so the firm has its exclusive use, thereby preventing others from using it.
a) copyright
b) selling mark
c) trademark
d) trade dress
e) benchmark
Ans: c
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157. The marketing of low-cost copies of popular brands not manufactured by the original producer is called __________.
a) licensing
b) "me-too" marketing
c) brand imitation
d) product counterfeiting
e) re-manufacturing
Ans: d
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158. When Rose went shopping for a new purse, she thought she had found a real value—a Gucci purse for about 50% of what she was planning to pay. When she looked more closely, she noticed that although the purse was identical to a Gucci it was not manufactured by Gucci. This was most likely an example of __________.
a) licensing
b) "Me-too" marketing
c) brand imitation
d) product counterfeiting
e) re-manufacturing
Ans: d
Feedback: Product counterfeiting is the marketing of low-cost copies of popular brands not manufactured by the original producer.
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159. The primary benefit for consumers of branding is that it allows __________.
a) products to be higher in quality
b) products to be lower in price
c) consumers to be more efficient shoppers
d) products to be higher in value
e) advertising to be unnecessary
Ans: c
Feedback: Consumers may benefit most from branding. Recognizing competing products by distinct trademarks allows them to be more efficient shoppers. Consumers can recognize and avoid products with which they are dissatisfied, while becoming loyal to other, more satisfying brands. Brand loyalty often eases consumers' decision making by eliminating the need for an external search.
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160. One of the primary benefits of branding for consumers is branding makes __________.
a) products higher in quality
b) products lower in price
c) consumers' decision making easier
d) products higher in value
e) advertising unnecessary
Ans: c
Feedback: Consumers may benefit most from branding. Recognizing competing products by distinct trademarks allows them to be more efficient shoppers. Consumers can recognize and avoid products with which they are dissatisfied, while becoming loyal to other, more satisfying brands. Brand loyalty often eases consumers' decision making by eliminating the need for an external search.
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161. __________ is a set of human characteristics associated with a brand name.
a) Brand personality
b) A brand mannerism
c) A symbolic brand
d) Brand personification
e) Product personification
Ans: a
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162. When consumers think of Thailand’s Singha beer, they think of the image of a casual, jovial, friendly, good-hearted local, whereas Heineken, a foreign beer in Thailand, is seen as a serious, formal, a little aloof and successful European. Both Singha and Heineken __________. 
a) have brand personalities
b) have created brand mannerisms
c) are symbolic brands
d) use brand personification
e) use product personification
Ans: a
Feedback: Brand personality is a set of human characteristics associated with a brand name.
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163. Brand equity is __________.
a) the resources invested to create a name, phrase, design, symbol or combination of these to identify a firm's products and distinguish them from those of its competitors
b) adding customer value to the product brand through additional features or higher-quality materials or reducing its price
c) increasing the content contained within the brand's package without changing its size or increasing its price
d) the net present value of the royalties the firm receives as a result of licensing its brand to other firms to manufacture and/or market
e) the added customer value a given brand name gives to a product beyond the functional benefits provided
Ans: e
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164. The four steps in the sequential building process of brand equity include __________, establishing a brand's meaning in the minds of consumers, eliciting the proper consumer responses to a brand's identity and meaning and to create a consumer-brand connection.
a) positive brand awareness
b) products lower in price
c) easing consumers' decision making
d) products higher in value
e) needed market modification
Ans: a
Feedback: The four steps in the sequential building process of brand equity include positive brand awareness, establishing a brand's meaning in the minds of consumers, eliciting the proper consumer responses to a brand's identity and meaning and to create a consumer-brand connection.
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165. The four steps in the sequential building process of brand equity include positive brand awareness, __________, eliciting the proper consumer responses to a brand's identity and meaning and to create a consumer-brand connection.
a) establishing a brand's meaning in the minds of consumers
b) products lower in price
c) easing consumers' decision making
d) products higher in value
e) needed market modification
Ans: a
Feedback: The four steps in the sequential building process of brand equity include positive brand awareness, establishing a brand's meaning in the minds of consumers, eliciting the proper consumer responses to a brand's identity and meaning and to create a consumer-brand connection.
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166. The four steps in the sequential building process of brand equity include positive brand awareness, establishing a brand's meaning in the minds of consumers, __________ and to create a consumer-brand connection.
a) eliciting the proper consumer responses
b) products lower in price
c) easing consumers' decision making
d) products higher in value
e) needed market modification
Ans: a
Feedback: The four steps in the sequential building process of brand equity include positive brand awareness, establishing a brand's meaning in the minds of consumers, eliciting the proper consumer responses to a brand's identity and meaning and to create a consumer-brand connection.
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167. The four steps in the sequential building process of brand equity include positive brand awareness, establishing a brand's meaning in the minds of consumers, eliciting the proper consumer responses to a brand's identity and meaning and to __________.
a) create a consumer-brand connection
b) introduce products lower in price
c) ease consumers' decision making
d) develop products higher in value
e) complete needed market modification
Ans: a
Feedback: The four steps in the sequential building process of brand equity include positive brand awareness, establishing a brand's meaning in the minds of consumers, eliciting the proper consumer responses to a brand's identity and meaning and to create a consumer-brand connection.
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168. Brand licensing is __________.
a) the registration fee paid by a manufacturer to states, provinces or countries in order to sell its products there
b) a branding strategy in which the producer dictates the brand name to retailers for the products sold to their respective markets
c) a branding strategy in which a company uses one name for all of its products
d) a branding strategy in which manufacturers produce products but sell them under the brand name of a wholesaler or retailer
e) a contractual agreement whereby a company allows another firm to use its brand name, patent, trade secret or other product for a royalty or fee
Ans: e
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169. __________ refers to a contractual agreement whereby one company (licensor) allows its brand name(s) or trademark(s) to be used with products or services offered by another company (licensee) for a royalty or fee.
a) Manufacturer branding
b) Generic branding
c) Reseller branding
d) Mixed branding
e) Brand licensing
Ans: e
Page: 315

Learning Objective: 3
170. Mattel has contractually agreed to let Colgate use the Barbie name and image on kids' toothpaste and toothbrushes. Colgate pays Mattel a fee for the use of the Barbie name and image. This is an example of __________.
a) manufacturer branding
b) generic branding
c) reseller branding
d) mixed branding
e) brand licensing
Ans: e
Feedback: Brand licensing refers to a contractual agreement whereby one company (licensor) allows its brand name(s) or trademark(s) to be used with products or services offered by another company (licensee) for a royalty or fee.
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171. All of the following are criteria for selecting a good brand name EXCEPT __________.
a) suggests product features
b) suggests product benefits
c) fits the company or product image
d) is memorable, distinctive and positive
e) is simple
Ans: a
Feedback: Additional criteria for selecting a good brand name are: (a) there should be no legal or regulatory conditions; and (b) the name should not have any prior impressions or undesirable images among a diverse world population of different languages and cultures when employing a global marketing strategy.
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172. Naming a personal computer PCjr, as IBM did with its first computer for home use had which problem with this brand name?
a) The name was distinctive and memorable
b) The name did not fit the company image
c) The name did not have legal restrictions
d) The name was simple
e) The name suggests the product benefits
Ans: b
Feedback: This brand name does not fit IBM's image. Rather it suggested the product was a toy.
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173. Which of the following is the best choice of brand name for the product according to the five criteria for selecting a good brand name?
a) Spam canned meat
b) Ken's salad dressing
c) Formula 409 cleaner
d) Match Light charcoal
e) Bayer aspirin
Ans: d
Feedback: Only Match Light is simple and distinctive and suggests the product benefit. It has no legal restrictions.
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174. Going to the U.S. Patent and Trademark Office website allows you to __________.
a) see if a brand or trade name has been registered
b) win prizes for suggesting brand names for various products
c) view the status of trademark infringement lawsuits
d) copyright a book without having to use a lawyer
e) buy unused trademarks
Ans: a
Feedback: The U.S. Patent and Trademark Office offers a valuable service by allowing individuals and companies to quickly check to see if a name has been registered.
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Learning Objective: 3
175. Companies can employ several different branding strategies, including __________, multibranding, private branding or mixed branding.
a) retailer branding
b) intermediary branding
c) licensing
d) multiproduct
e) co-branding
Ans: d
Feedback: Companies can employ several different branding strategies, including multiproduct, multibranding, private branding or mixed branding.
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Learning Objective: 3
176. Companies can employ several different branding strategies, including multiproduct, __________, private branding or mixed branding.
a) retailer branding
b) intermediary branding
c) licensing
d) multibranding
e) co-branding
Ans: d
Feedback: Companies can employ several different branding strategies, including multiproduct, multibranding, private branding or mixed branding.
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Learning Objective: 3
177.  Companies can employ several different branding strategies, including multiproduct, multibranding, __________ or mixed branding.
a) retailer branding
b) intermediary branding
c) licensing
d) private branding
e) co-branding
Ans: d
Feedback: Companies can employ several different branding strategies, including multiproduct, multibranding, private branding or mixed branding.
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Learning Objective: 3
178. Multiproduct branding is __________.
a) a statement indicating the liability of the manufacturer for product deficiencies
b) a strategy where products are given no identifying names other than a description of their contents
c) a branding strategy in which a company uses one name for all of its products
d) a branding strategy in which manufacturers produce products but sell them under the brand name of a wholesaler or retailer, also called private labeling or reseller branding
e) a contractual agreement whereby a company allows someone else to use its brand name and usually requires that the product be made to its specifications
Ans: c
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Learning Objective: 3
179. A branding strategy in which a company uses one name for all of its products (often referred to as a corporate or family branding strategy) is called __________.
a) co-branding
b) generic branding
c) reseller branding
d) mixed branding
e) multiproduct branding
Ans: e
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Learning Objective: 3
180. All computers sold by the Hewlett Packard are sold under Hewlett Packard brand. This is an example of __________.
a) multiproduct licensing
b) multibranding
c) co-branding
d) generic branding
e) multiproduct branding
Ans: e
Feedback: With multiproduct branding, a company uses one name for all of its products.
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Learning Objective: 3
181. Panasonic makes Panasonic televisions, Panasonic washing machines, Panasonic telephones and Panasonic massage chairs. Panasonic is using a __________ branding strategy.
a) multibranding
b) family branding
c) co-branding
d) dual branding
e) mixed branding
Ans: b
Feedback: With multiproduct branding (also known as family branding), a company uses one name for all of its products.
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Learning Objective: 3
182. Every product manufactured by Samsung Company carries the Samsung brand name. Samsung Company uses __________.
a) multibranding
b) single branding
c) co-branding
d) family branding
e) agent licensing
Ans: d
Feedback: With multiproduct branding (also known as family branding), a company uses one name for all of its products.
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Learning Objective: 3
183. When a company uses line extension it is __________.
a) manufacturing a product under a new brand name that consumers will view as an entirely new product line
b) manufacturing a new product with the current brand name to enter a new market segment in its product class
c) speeding up the movement of a product category through its PLC
d) contracting with another firm to manufacture modified versions of the original products
e) applying the current brand name to enter a completely different product class
Ans: b
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Learning Objective: 3
184. Campbell offers regular Campbell soup, home-cooking style, and chunky varieties and more than 100 soup flavors. Campbell is effectively employing __________.
a) a channel extension
b) subbranding
c) a line extension
d) co-branding
e) multibranding
Ans: c
Feedback: Bayer aspirin is using line extensions, the practice of using a current brand name to enter a new market segment in its product class.
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Learning Objective: 3
185. Which of the following statements about line extensions is true?
a) A line extension strategy typically leads to increased advertising costs
b) There are no risks associated with a line extension strategy
c) When the Kleenex Company joins with Carrefour supermarkets to advertise Kleenex products, it is an example of a line extension
d) A line extension is used with multiproduct branding
e) A line extension is used with multibranding
Ans: d
Feedback: This strategy can reduce advertising costs because the same name is used on all products, thus raising the level of brand awareness. A risk with line extensions is that sales of an extension may come at the expense of other items in the company's product line. Alternative C describes cooperative advertising. Line extensions are part of the multiproduct branding strategy.
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Learning Objective: 3
186. Combining a corporate brand with a new brand is called __________.
a) subbranding
b) multiproduct branding
c) mixed branding
d) generic branding
e) family branding
Ans: a
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Learning Objective: 3
187. Gatorade successfully used __________ with the introduction of Gatorade Frost, Gatorade Rain and Gatorade A.M.
a) subbranding
b) multiproduct branding
c) mixed branding
d) generic branding
e) family branding
Ans: a
Feedback: Subbranding combines a corporate or family brand (Gatorade) with a new brand (Gatorade A.M., Gatorade Rain, etc.), to distinguish a part of its product line from others.
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Learning Objective: 3
188. Brand extensions require __________.
a) manufacturing a product under a new name that consumers will view as an entirely new product line
b) manufacturing a new product with the same brand name for a new market segment in the same product class so consumers will view it as a logical addition to the original product line
c) manufacturing accessory products such as Barbie clothes for Barbie Dolls
d) licensing another firm to manufacture modified versions of the original products
e) applying the current brand name to enter a completely different product class
Ans: e
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Learning Objective: 3
189. A risk with __________ is that too many uses for one brand name can dilute the meaning of a brand for consumers.
a) brand extension
b) family branding
c) co-branding
d) blanket branding
e) mixed branding
Ans: a
Feedback: A brand extension strategy applies the current brand name to enter a completely different product class. A risk with brand extensions is that too many uses for one brand name can dilute the meaning of a brand for consumers.
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Learning Objective: 3
190. The pairing of two brand names of two manufacturers on a single product is called __________.
a) multibrand production
b) generic branding
c) co-branding
d) mixed branding
e) multiproduct branding
Ans: c
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Learning Objective: 3
191. Which strategy are three companies: Coca-Cola, music company Captial Aritists and Henderson Land Development launched a HK$100-million campaign in Hong Kong? 
a) manufacturer branding
b) generic branding
c) co-branding
d) mixed branding
e) multiproduct branding
Ans: c
Feedback: Co-branding is the pairing of two brand names of two manufacturers on a single product.
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Learning Objective: 3
192. Multibranding is __________.
a) a branding strategy that involves giving each product a distinct name
b) a branding strategy that uses different brand names for the same product across multiple countries
c) a branding strategy in which a company uses one name for multiple products
d) a branding strategy in which manufacturers produce products but sell them under the brand name of a wholesaler or retailer
e) a contractual agreement whereby a company allows someone else to use its brand name and usually requires that the product be made to its specifications
Ans: a
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Learning Objective: 3
193. Mars, Inc. sells Snickers, Milky Way, Twix, Skittles, Dove, Starburst, M&Ms and Three Musketeer candy. This variety of names is typical of a __________ strategy.
a) co-branding
b) multibranding
c) multiproduct
d) mixed brand
e) private branding
Ans: b
Feedback: A multibranding strategy gives each product a distinct name. Mars uses a branding strategy that gives each of its products a distinct name.
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Learning Objective: 3
194. A manufacturer's branding strategy in which a distinct name is given to each of its products is called __________.
a) multibranding
b) generic branding
c) co-branding
d) mixed branding
e) multiproduct branding
Ans: a
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Learning Objective: 3
195. Seiko makes watches. It markets its higher quality watches under the Seiko or Lasalle name and its lower-priced watches are sold under the Pulsar brand. Seiko uses a __________ strategy.
a) multibranding
b) generic branding
c) multiproduct branding
d) trademarked branding
e) private branding
Ans: a
Feedback: Multibranding involves giving each product a distinct name. Multibranding is a useful strategy when each brand is intended for a different market segment. Since Seiko is making a new line of goods with a different set of product characteristics, to use the same brand name for a different line of products might confuse the image developed for the high quality line of products.
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Learning Objective: 3
196. Black & Decker uses a __________ strategy to reach the do-it-yourselfer market with the Black & Decker name and the construction professional market with the DeWalt name.
a) multibranding
b) generic branding
c) multiproduct branding
d) trademarked branding
e) private branding
Ans: a
Feedback: Since Black & Decker is making a new line of goods with a different set of product characteristics, to use the same brand name for a different line of products might confuse the image developed for the high quality DeWalt line of products.
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Learning Objective: 3
197. The chief purpose of a __________ is to confront competitor brands.
a) co-brand
b) private brand
c) fighting brand
d) brand extension
e) subbrand
Ans: c
Feedback: Multibrand companies introduce new product brands as defensive moves to counteract competition. Called fighting brands, their chief purpose is to confront competitor brands.
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Learning Objective: 3
198. __________ are new product brands introduced as defensive moves to counteract competition.

a) Co-brands
b) Private brands
c) Fighting brands
d) Brand extensions
e) Subbrands
Ans: c
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Learning Objective: 3
199. A company uses __________ when it manufactures products but sells them under the brand name of a wholesaler or retailer.
a) manufacturer branding
b) private branding
c) generic branding
d) proprietary branding
e) branding rights
Ans: b
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Learning Objective: 3
200. Private branding is __________.
a) a branding strategy that involves giving each product a distinct name
b) a strategy where products are given no identifying names other than a description of its contents
c) a branding strategy in which a company uses one name for all of its products
d) a branding strategy in which manufacturers produce products that are sold under the brand name of a wholesaler or retailer
e) a contractual agreement whereby a company allows someone else to use its brand name and usually requires that the product be made to its specifications
Ans: d
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Learning Objective: 3
201. Thirty-six percent of sales at supermarkets in the United Kingdom carry the stores' own brand names. Eighteen percent of all supermarket sales in France and Germany carry the stores' own brand names; and in the US, 14 percent do. These stores are using a __________ strategy to sell consumer food.
a) private branding
b) generic branding
c) multibranding
d) co-branding
e) multiproduct branding
Ans: a
Feedback: Private branding or private labeling or reseller branding is when a company manufactures products but sells them under the brand name of a wholesaler or retailer.
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Learning Objective: 3
202. Mixed branding is a branding strategy __________.
a) that involves giving each product a distinct name
b) that uses different brand names for the same product across multiple countries
c) in which a company uses one name for all of its products
d) in which the company may market some products under their own name and others under that of a reseller
e) in which a company follows both manufacturer and generic branding approaches for products in its mix
Ans: d
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Learning Objective: 3
203. A branding strategy in which the company may market some products under its own name and other under that of a reseller is called __________.
a) multibranding
b) generic branding
c) private branding
d) mixed branding
e) multiproduct branding
Ans: d
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Learning Objective: 3
204. A manufacturer can successfully use mixed branding because __________.
a) that involves giving each product a distinct brand name
b) the segment attracted to the reseller product is different from its own market
c) the company uses one name for all of its products
d) it is easy to do
e) it produces low profits for the reseller and high profits for the manufacturer
Ans: b
Feedback: Mixed branding is where a firm markets products under its own name(s) and that of a reseller because the segment attracted to the reseller is different from its own market.
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Learning Objective: 3
205. Which of the following statements about Pez is true?
a) Pez comes from the German word for peppermint, pfefferminz
b) Pez was successfully sold in Europe as an adult breath mint
c) Pez was originally packaged in a headless dispenser
d) Pez first appeared in the United States in 1953
e) All of the above statements about Pez are true
Ans: e
Feedback: Pez was successfully sold in Europe as an adult breath mint. Pez, which comes from the German word for peppermint, pfefferminz, was originally packaged in a hygienic, headless plastic dispenser. Pez first appeared in the U.S. in 1953 with a headless dispenser, marketed to adults.
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Learning Objective: 4
206. Packaging is __________.
a) any box, bottle, jar, can, carton or bag that can be used for transporting durable or non-durable goods
b) any container in which a product is offered for sale and on which information is communicated
c) that part of a product that is not consumed
d) any container used for storage of consumer or industrial goods
e) accurately described by none of the above
Ans: b
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Learning Objective: 4
207. A label __________.
a) is an integral part of the package
b) typically identifies the product or brand
c) is typically an expensive part of the marketing strategy for a product
d) typically identifies who made it, where and when it was made
e) is accurately described by all of the above
Ans: e
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Learning Objective: 4
208. Which of the following benefits can be conveyed through packaging?
a) Communication benefits
b) Storage benefits
c) Perceptual benefits
d) Protection benefits
e) All of the above benefits can be conveyed through packaging
Ans: e
Feedback: The benefits provided by packaging include communication benefits, perceptual benefits and functional benefits (including storage, convenience, protection or product quality).
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Learning Objective: 4
209. Packages create customer value by providing __________.
a) legal disclaimers
b) instructions for use
c) communication, functional and perceptual benefits
d) environmental impact statements
e) all of the above
Ans: c
Feedback: Major benefits of packaging are the information conveyed to consumers, its functional benefits such as protection or storage and the perception created in the consumers' minds.
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Learning Objective: 4
210. Directions on how and when to use a product and the composition of a product that appear on packaging are what kind of benefits?
a) Communication benefits
b) Storage benefits
c) Perceptual benefits
d) Protection benefits
e) All of the above
Ans: a
Feedback: A major benefit of packaging is the label information on it conveyed to consumers, such as directions on how, where and when to use the product and the source and composition of the product, which is needed to satisfy legal requirements of product disclosure.
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Learning Objective: 4
211. Packaging that provides convenience, product quality, protection or storage offers what kind of benefits?
a) Communication benefits
b) Functional benefits
c) Perceptual benefits
d) Physiological benefits
e) All of the above types of benefits
Ans: b
Feedback: Packaging often plays an important functional role such as convenience, protection, product quality or storage.
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Learning Objective: 4
212. The perception packaging creates in the consumer's mind relates to what kind of benefits?
a) Communication benefits
b) Functional benefits
c) Perceptual benefits
d) Physical benefits
e) All of the above types of benefits
Ans: c
Feedback: Perceptual benefits of packaging include the perception created in the consumer's mind.
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Learning Objective: 4
213. A package can connote __________.
a) country of origin or manufacture perceptions
b) economy, barter price and distribution strategy
c) all of the elements of the marketing mix
d) product quality, company size and industry growth rate
e) consumerism, environmentalism and industry ethical standards
Ans: a
Feedback: A component of packaging and labeling is the perception created in the consumer's mind. Because labels list a product's source, brands competing in the global marketplace can benefit from country of origin or manufacture perceptions. Consumers tend to have stereotypes about country-product pairings that they judge "best".
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Learning Objective: 4
214. Which of the following statements about packaging is true?
a) A recent trend is to emphasize the health and safety concerns of packaging
b) A recent trend is to search for environmentally-friendly packaging
c) Packaging can be used to connect with customers
d) Packaging can be used to extend shelf life
e) All of the above statements about packaging are true
Ans: e
Feedback: Packages and labels must be continually updated to connect with customers. Because of widespread worldwide concern about the growth of solid waste and the shortage of viable landfill sites, the amount, composition and disposal of packaging material continues to be an environmental concern. A third challenge involves the growing health, safety and security concerns of packaging materials. New packaging technology and materials that extend a product's shelf life and prevent spoilage continue to be developed with special applications for developing countries.
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Learning Objective: 4
215. Which of the following statements does NOT describe a benefit associated with packaging?
a) Packaging provides consumers with valuable and necessary information about directions regarding product usage and its composition
b) Packaging extends a product's shelf life
c) Packaging is an inexpensive product strategy to implement
d) Packaging potentially increases product sales
e) Packaging allows a company to differentiate its product from those of the competition
Ans: c
Feedback: Packaging is usually an expensive product strategy to implement due to the promotional, legal, safety and functional design issues that must be considered.
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Learning Objective: 4
216. The challenges of packaging and labeling are often global. Two particular types of challenges facing global manufacturers are environmental concerns and __________.
a) creating larger size packages to be sold at warehouse stores
b) cultural diversity
c) making packaging a less expensive part of the marketing strategy
d) health and safety concerns
e) total quality management
Ans: d
Feedback: Today, a majority of U.S. and European consumers believe companies should make sure products and their packages are safe, regardless of the cost.
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Learning Objective: 4
217. The challenges of packaging and labeling are often global. Two particular types of challenges facing global manufacturers are health and safety concerns and __________.
a) creating larger size packages to be sold at warehouse stores
b) cultural diversity
c) making packaging a less expensive part of the marketing strategy
d) environmental concerns
e) total quality management
Ans: d
Feedback: Because of widespread worldwide concern about the growth of solid waste and the shortage of viable landfill sites, the amount, composition and disposal of packaging material continues to receive global attention.
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Learning Objective: 4
218. The time a product can be stored before it spoils is called __________.
a) product life
b) storage benefit
c) protection potential
d) shelf life
e) the born-on date
Ans: d
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Learning Objective: 4
219. A statement indicating the liability of the manufacturer for product deficiencies is a __________.
a) proof of purchase
b) warranty
c) seal of approval
d) disclaimer
e) constraint
Ans: b
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Learning Objective: 4
 
220. A written statement of manufacturer liability is called a(n) __________ warranty.
a) insurance
b) functional
c) implied
d) strict-liability
e) express
Ans: e
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Learning Objective: 4
221. Warranties which specifically state the bounds of coverage and more important, areas of non-coverage are called __________ warranties.
a) limited-coverage
b) functional
c) implied
d) strict-liability
e) inferred
Ans: a
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Learning Objective: 4
222. Warranties that have no limits of noncoverage are called __________ warranties.
a) limited-coverage
b) full
c) implied
d) strict-liability
e) express
Ans: b
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Learning Objective: 4
223. Warranties which assign responsibility for product deficiencies to the manufacturer are most correctly called __________ warranties.
a) limited-coverage
b) technical
c) implied
d) strict-liability
e) express
Ans: c
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Learning Objective: 4
224. Super Bean International Pte Ltd’s strategy is to __________.
a) set up more outlets at prime locations
b) stay as it is 
c) focus on communicating the brand to customers
d) diversify its products
e) none of the above

Ans: c
Feedback: Super Bean International Pte Ltd plans to focus on communicating the brand to its customers.
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Learning Objective: 1
225. Which of the following statements about Mr. Bean is true?
a) Super Bean International engaged in heavy branding of Mr. Bean
b) Mr. Bean’s brand identity if “Bringing you life’s simple pleasures” 
c) A new logo was created in 2006 to produce a more vibrant and refreshing image
d) Mr. Bean is a well-known and popular brand among consumers 
e) All of the above statements about Mr. Bean are true. 
Ans: e
Feedback: Super Bean International focused on branding to counter the stiff competition in the soya bean business. The new identity and logo are also part of the branding process. The various awards that the brand Mr. Bean won prove that it is a popular choice among consumers. 
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Learning Objective: 4
Short Answer

226. Identify and describe the stages of the generalized product life cycle. For each stage, specify the marketing objective a firm should attempt to achieve? 
Ans: Introduction Stage: occurs when new products are first commercialized to their intended target markets. The marketing objective at this stage is to create consumer awareness and stimulate trial (primary demand).
Growth Stage: is characterized by rapid increases in product sales as both trials and repeat purchases increase. Because the number of competitors increases, the marketing objective is to differentiate the firm's brand from its competitors through the addition of features or improved product quality (selective demand).
Maturity Stage: is characterized by the leveling off of product sales within the total industry or product class. The marketing objective is to maintain brand loyalty and hold market share through further product differentiation, increased promotion and distribution efficiency.
Decline Stage: occurs when both sales and profits decline due to environmental changes (new technologies appear, consumer preferences change, etc.). The marketing objective is to reduce product support.
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Learning Objective: 1
227. Explain the difference between primary demand and selective demand? 
Ans: Primary demand is a desire for the product class (such as food processors or potatoes) rather than for a specific brand. Demand for a specific brand is referred to as selective demand.
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Learning Objective: 1
228. Describe the decline stage of the product life cycle. Explain the two strategies a company might employ if its product were in the decline stage of the product life cycle?
Ans: The decline stage is the beginning of the end and occurs when sales and profits are steadily dropping. To handle a declining product, a company follows one of two strategies. Deletion is dropping the product from the line and is the most drastic action. Harvesting is when a company retains the product but reduces support costs.
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Learning Objective: 1
229. How long is a product life cycle? What determines its length? 
Ans: There is no exact time that a product takes to move through its life cycle. As a rule, consumer products have shorter life cycles than business products. The availability of mass communication vehicles informs consumers faster and shortens life cycles. Also, technological change tends to shorten product life cycles as new product innovation replaces existing products.
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Learning Objective: 1
230. What are the five product life cycle types described in the text? For each type, describe (and as an option, draw) its characteristics? 
Ans: The five product life cycles are:
Generalized is the type that is generally discussed in the text—it starts at introduction, climbs through growth, plateaus during maturity and starts to decline during the decline stage.
With High-learning PLC significant product education is required by consumers, resulting in an extended introduction stage.
With Low-learning PLC significant sales occur during the introduction stage because consumers require little information regarding the product's use or benefits.
The Fashion the life cycle can repeat as consumer preferences change and then revert back, thus creating several life cycles over many years. Occurs with some clothing.
The Fad life cycle experiences a rapid increase followed by a rapid decrease in sales during a relatively short period of time. Thus, the life cycle primarily consists of an introduction and a decline stage, with highly compressed growth and maturity stages.
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Learning Objective: 1
231. Define diffusion of innovation. Identify and describe the categories and profiles of each product adopter? 
Ans: The diffusion of innovation is the extent to which a new product or technology spreads or "diffuses" through a population in terms of initial purchases. The five categories of product adopters are:
Innovators: These adopters tend to be venturesome, possess higher education and use multiple information sources before making product purchases.
Early Adopters: These adopters are leaders in social settings and have slightly above average education.
Early Majority: These consumers are deliberate when making product purchases and use many informal social contracts as information sources.
Late Majority: These consumers are skeptical about new products and possess a lower than average social status.
Laggards: These consumers have a fear of debt and rely on neighbors and friends for information regarding new products.
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Learning Objective: 1
232. Compare the three ways to manage a product through its product life cycle?
Ans: The three ways to manage a product through its life cycle include modifying the product, modifying the market and repositioning the product. Product modification strategies involve altering a product characteristic, such as quality, performance or appearance to try to increase and extend its sales and life cycle. With market modification strategies, a company tries to increase a product's use among existing customers, to create new use situations or to find new customers. Product repositioning is changing the place a product occupies in a consumer's mind relative to competitive products. A firm can reposition a product by changing one or more of the four marketing mix elements.
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Learning Objective: 2
233. For more than 30 years, Starkist put 6.5 ounces of tuna into its regular-sized can. Today, Starkist puts 6.125 ounces of tuna into its can but charges the same price. Kimberly-Clark Corporation has also been shrinking the size of its Scott bathroom tissue paper. Its 1,000 sheets-per-roll tissues have become shorter, from the original 4.5 inches, to 4.0 inches, to 3.7 inches. The roll of tissue is overall 30 feet shorter but it is sold at the same price. There are two sides to the ethical argument about this practice: that of consumer advocates and that of manufacturers. What is the practice called and what are the basic positions of the two sides? 
Ans: The practice is called "downsizing". Consumer advocates charge that downsizing packages while maintaining or increasing prices is a subtle and unannounced way of taking advantage of consumers' buying habits. Manufacturers argue that this practice is a way of keeping prices from rising beyond psychological barriers for their products. Students may or may not believe it is ethical for manufacturers to reduce the contents of their packages without informing consumers.
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Learning Objective: 2
234. Explain the difference between trading up and trading down in repositioning a product? 
Ans: Trading up involves adding value to the product (or line) through additional features or high quality materials. For example, BMW traded up with a new model, 750 sci, which costs $67,000. Trading down involves reducing the number of features, quality or price. For example, Mercedes traded down its line with the introduction of the Mercedes 190 Sedan.
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Learning Objective: 2
235. What is the difference between a brand name and a trade name? Give an example of each? 
Ans: a brand name is any word, device (design, sound, shape or color) or combination of these, used to distinguish a seller's goods or services. Some brand names can be spoken, such as Big Mac hamburger. Other brand names cannot be spoken, such as the logo that Apple Computer puts on its machines and in its ads. A trade name is a commercial, legal name under which a company does business (e.g. Campbell Soup Company).

Page: 312

Learning Objective: 3
236. List the four sequential steps used to develop brand equity. Which step is the most difficult? 
Ans: The first is to develop a positive brand-awareness and an association of the brand in consumers' minds with a product class or need to give the brand an identity.
Next, a marketer must establish a brand's meaning in the minds of consumers.
The third step is to elicit the proper consumer responses to a brand's identity and meaning.
The final and most difficult step is to create a consumer-brand connection evident in an intense, active loyalty relationship between consumer and the brand.
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Learning Objective: 3
 
237. What five criteria are mentioned most often in selecting a good brand name? Give an example of a brand name that illustrates each of the criteria? 
Ans: Five criteria are mentioned most often in selecting a good brand name:
The name should suggest the product benefits (e.g. Energizer, Easy-Off).
The name should be memorable, distinctive and positive (e.g., Mustang).
The name should fit the company or product image (e.g. Sharp, Snackwell).
The name should have no legal restrictions (e.g. Heartwise).
The name should be simple (e.g., Bold, Sure). Internationally, the name should not have any prior impressions or undesirable images among a diverse world population of different languages and cultures.
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Learning Objective: 3
238. Identify and describe the four branding strategies used by product managers? 
Ans: Product managers use the following branding strategies:
Multibranding: occurs when a firm gives each product a distinct name.
Multiproduct branding: occurs when a firm uses one brand name for all of its products.
Private branding: the producer manufactures the product but sells them under the brand name of a wholesaler or retailer.
Mixed branding: the producer markets products under its own name and also under that of a reseller because the target segment which is attracted to the reseller is different than the target segment of the producer.
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Learning Objective: 3
239. What is the difference between multibrand and multiproduct branding? What advantages are offered by each of these two approaches? 
Ans: The manufacturer may use either a multiproduct or multibrand approach. Multiproduct branding is when a company uses one name for all its products. This approach is often referred to as a "corporate" or "family" branding strategy. Consumers who have a good experience with one product will transfer this favorable attitude to other products in the product class with the same name. This strategy can also result in lower advertising and promotion costs because the same name is used on all products, thus raising the level of brand awareness.
The multibrand approach or multibranding, involves giving each product a distinct name. Sometimes the same product is sold under different names, especially internationally. Advertising and promotion costs for multibranded products tend to be higher, because the manufacturer must generate awareness among consumers and retailers for each new brand name without the benefit of any previous impressions. However, each brand is unique to each market segment and there is no risk that a product failure will affect other products in the line.
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Learning Objective: 3
240. What is multiproduct branding? What are its advantages? Disadvantages? 
Ans: Multiproduct branding is when a company uses one brand name for all its products. This approach is often referred to as a "corporate" or "family" branding strategy. There are several advantages. Consumers who have had a good experience with one product in the line may also carry a favorable attitude toward other products in the line. This approach can result in lower advertising and promotion costs because the same brand name is used on all products within the line, raising the level of brand awareness. A new product is viewed as an extension of an existing line rather than a totally new item. A corporate branding approach can also facilitate getting the product accepted by retail stores.
The disadvantages of multiproduct branding are that:
Using the line extension strategy within multiproduct branding may result in sales at the expense of sales of other items in the company's product line; and too many uses for one brand name can dilute the image of a product line.
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Learning Objective: 3
241. Explain the following statement: "Packaging provides communication, functional and perceptual benefits for manufacturers, retailers and consumers"? 
Ans: Packages provide important benefits for the manufacturer, retailer and ultimate consumer. These benefits include:
Communication benefits. A major benefit of packaging is the information on it is conveyed to the consumer, such as directions on how to use the product and the composition of the product, which is needed to satisfy legal requirements of product disclosure.
Functional benefits. Packaging often plays an important functional role, such as convenience, protection or storage. Another functional value of packaging is in extending storage and shelf life (the time a product can be stored before it spoils).
Perceptual benefits. Packaging can create a perception in the consumer's mind. For example, because labels list a product's source, brands competing in the global marketplace can benefit from country of origin or manufacture perceptions.
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Learning Objective: 4
242. Why are warranties important? 
Ans: Warranties are important in light of increasing product liability claims. Warranties represent much more to the buyer than just protection from negative consequences. They hold a significant marketing advantage for the producer. For example, Sears has built a strong reputation for its Craftsman hand tools line with a simple warranty: if you break a tool, it's replaced with no questions asked.
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